1272272008 1015 Fay

OPTIONAL FIREPLACE HOOD

INSTALLATION INSTRUCTIONS
R-2965
ELH-1/AH-BK Fiteplace Hood Kit Part Number EL-151
ELH-2/AH-PB Fireplace Hood Kit Part Number EL-438

EFFECTIVE DATE AUGUST 2006

Bo02/003

Optinnal Fircplace Hoad Model Number

ELH-1 Black Hood (EL, SL, AL)-(18, 24, 30)

ELH-2 Brass Hoad (EL, 5L, AL)~(18,24,30)T
VFYM-(14, 18, 24, 30)(S0, RWO)
VFYR~(16, 18, 24, 30)(SO, RW0O)
VFSR~(16,18,24,30)C

VFSV-(16, 18, 24, 30)C
VFSR(18, 24, 30 FA)(C,0,5)
VESV-(18, 24, 30 FA) (C,0.5)

AH-BK Black Hood VL-(16, 18, 24, 30)(M,M-CR1)
AH-PB Bress Hood VL-(16, 18, 24, 30)(MV,(MV-CR1)
VL5-(16, 18, 24, 30)MM-CRI
VL3-(16, 18, 24, 30)MV-CRI

1.

2,

INSTRUCTIONS MUST BE LEFT WITH THE OWNER FOR FUTURE REFERENCE ARTER INSTALLATION.

ATTENTION: Peel off all protective film from brass (ELH-2,AH-PB
) party before ass\embly,

INSTALLING OPTIONAL FIREPLACE HOOD

Refer to the apprapriate drawing to determine mante] requirements when
using optional hood with the applience that you have purchased. When
using the optional fireplace hoad there must be non-combustible material
above the top of the fireplace opening for a distance of 8" or 12", depending
on the appliance that you have purchased, refer to appropriate drawing.
The non-combustible material must extend the full width of the fire place
opening. See Installation Instructions and Ownet's Manual for additional
mformation an minimum clearances.

Thefireplace hoed can be installed on afla1, nen-combustible surface
or a masonry surface,

Thefireplnoe hood ig expandable to neeammndate firoplace openings
from a minimum width of 28" to a maximum width of 45", The
fireplace hood hag threo parts, the hood center, hood end-left and
hood end-right

. Expand the fireplace hood to match the width et the top of the

fireplace opening. B¢ sure to evenly expand the hood end-left and
hood end-right to achieve en evenly matched firoplace baod.

Minimum Clearances with Fireplace Hood for
(EL, SL, AL)-(18, 24, 30)
(EL, 5L, AL)-(18, 24, 30)T

21z 1 12—
(63 an T0 306na) [_
VANTLE7GHELF
T
X" (1206mm
HINIMUM NON- TO UNDERSIE OF MANTLE
COMBUST IGLE
HATERTAL
B (20%0mm)

TOP OF FJRE-

PLACE OPENING DIMENSIONS LISTED

ARE FOR MODELS:
(AL. EL. 5L)-1B
tAL, EL. 50L)-1B7
(AL, EL. 5L)-24
(AL, EL. SL)-24T
(AL, EL. 5L)-30
LOG SET (AL, EL. SL)-307

Minimum Clearances with Fireplace Hood for
VFYM-(16, 18, 24, 30)(SO, RWO)
VFYR-(16,18,24,30)(S0,RWQ)

VFSR-(16, 18, 24, 30)C

VFSV(16, 18, 24, 30)C
VFSR-(18, 24, 30 FA)(C,0,8)
VFSV-(18, 24, 30 FA) (C,0,5)
VL-(16, 18, 24, 30)(M, M-CR1)

VLA16, 18, 24, 30)(MV, MV-CR1)

VLS-(16, 18, 24, 30)MM-CR1
VLS-(16, 18, 24, 3DMV-CR1

ELM-I
Hoao

Non-Combustible | Requiremeats for
Material Distance | Safe Installation

12" or more Non-combustible material.

Less than 12" Non-combustible material must be extended
to at least 8" with the instaliation of the op-
tional fircplace hood. If you cennot extend
non-combustiblc material at least 8", you
must operate heater with flue damper open.

8" MANTEL
8" MANTEL
4" MANTEL
2" MANTEL
12° MINIMUM
HEAT RESISTANT
MATERIAL
14,267 10,0
13,6 f 150
HOOD
HEATER IN
FIREPLACE
OR FIREEOX
Mascory Surface

4. Tomountfireplace hood on aflat musanry surface or uneven masonry
surface you will uge the two hood supports with the four 1 1/4"
MAsonry screwa.

5. On the underside, top of the fireplace opening, place the two hood
supports into the left edge and the right edge of the fireplace opening.
The 1 1/2" leg of the hood support will extend into the top of the
fireplace opening. The 3 1/2" eg of the hood support will bo above
the top of the fireplace opening.

6. Attach the two hood supports to the undesside, top of fireplaco

opening with the four 1 1/4" masonty serews (two screws for each
hood support). Do not completely tighten screws as afinal adjustment
may be required.
Attention: The slots in the hood support allow for attachment of the
fireplace hood to uneven surfaces, Be sure the hood supports extend
beyond the farthest point of the uneven surface for a distance of 3
1/2" above the top of the fireplace opening.

R-2965-0B06 Empire Comfort Systems, Ine. = 918 Freeburg Avenue + Bellevillo, I, 62222 » PH: 618-233-7420 - FAX: 618-233-7097 Page |



12/22/2008 10168 FAX

ELH-I/AH-BK Fireplace Hood Kit Part Number EL-151
ELH-2/AH-FB Firepluce Hood Kit Part Number EL-43§

Place the fireplace hood aver the two hood supports. The fireplace
hoad will rest on the 1/8" offset on the hood aupports. No screws

are required for attachment of fireplace hood to hood supports.

Adjust the hood supports in orout ofthe fireplace opening to properly
align the fireplace hood.  Tighten the four | 1/4" tasonry screws

after final adjustment has been made.
Installation of fireplace hood on masoncy surface is completed.

SLIDE HOOD DOWN OVER MOOD SUPPQRTS

ATTACH HDUD SUPPORTS USING
I 174" HASONRY SCREWS

INSTALLING HDDD ON MASONRY SURFACE

Non-Cambustible Surface

4.

5.

9.

10.

To mount fireplace hood on a flat, non-combustible surfacs you
will use the four 1/2" screws.

Align the battom on the fireplace hood with the top of the
fireplace opening. The fireplace hood will extend above the
top of ths fircplace apening by approximately 3 1/2",

On the hood end-left and hood end-right there are three 1" slots
for attaching the 1/2" screws to the non-combustiblo surface,
With the fireplace haod evenly cxpanded uge two slots on the
hood end-left and hood-end right thet provice the most support
for the fireplace hood.

Mark the location of the four slots that arc to be used on the
flat, non-combustible surface. From the top of the fireplace
oponing, measure upward epproximataly 2 3/4" for attaching
the four 1/2" serews to the flat, non-combustible surface. Do
completely tighten the four screws.

With the slots on the fireplace hood aligned with the SCrews,
place the fireplace hood onto the screws.

Tighten the four screws afier fireplace hood ig properly
positioned.

I1.Installation of the fircplace hood on non-combustible surface is

Page 2

completed.

@ 003/003

INSTALLING HOOD ON NON-COMBUSTIBLE SURFACE
3
! /
T
d
4 4//53
g

ELH-VAH-BK Btack Hood

PARTS LIST
Index Part - Part | Quantity
Number | Description Numbeor | Supplied
1 Hood Center _EL-147 1
2 Hood End-Left EL-14R 1
3 Hood End-Right EL-149 1
4 Hood Support EL-150 2
NA 1/2" Screw R-2737 4
N/A 1 1/4" Masonry Screw | R-2870 4

ELH-2/AH-PB Brass Hood

PARTS LIST
Index Part Part | Quantity
Number | Description Number | Supplied
I Hoad Center EL-435 1
2 Hood End-Left EL-436 i
3 Hood End-Right EL437 1 ﬁ
4 Hood Support EL-150 2
N/A 12" Serew R-2737 4
N/A 1 1/4" Masonry Serew R-2870 4

Empire Comfort Systems, Inc. « 918 Freeburg Avenue « Belleville, IL 62222 « PH: 618-233.7420 + FAX: 618-233.7097 R-2965-0806



